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2. As shown in Figure 2, the allowable working stresses for the manufactured wood
beam are 10 MPa in bending and 1 MPa in shear. Determine the maximum

intensity wo of the distributed loading that the beam can safely support. ~ (25%)
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3. Determine the deflection of end C of the 150-mm-diameter solid circular shaft
(Figure 3). The shaft is made of steel having a modulus elasticity of £ =200 GPa.

(25%)

Figure 3
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(a) Please draw graphs to show the variation of stress Mohr's circle for a steel bar
under axial constant amplitude fatigue loading. The ratio of minimum stress
Omin 10 Maximum Stress omay is -0.5. (9%)
(b) The solid shaft is subjected to a torque, bending moment, and shear force as
shown in Figure 4. Determine the principal stresses acting at points 4 and B.
(16%)

Figure 4




